
Polynomials 
Ex. 2.4
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fx-2.41.IOLet pk ) = ✗ 3 -1×2-1×+1

pf 1) = t 1)
3
-1 (-112+1-1) -11

= -1+1-1-11

= 0

: by factor theorem
be -11) is a factor. of pecs .

④ Let pks = x
" -1×3-1×2 -1×+1

p C- 1) = C- 1) " + ftp.t (-112+-11)-11
= 1/-11-111 -I -11
= 11=0

Since remainder -1-0

i. ⇐ + 1) is not a factor of pics .

④ Let PK ) = x" -13×3-13×2 -1×+1

pf 1) = C- 1) 4-131-113-13 (-112-11-1) -11
= -1-3/-1/3 - 11-1-11
= -1=10

Since remainder =/ 0

i. ⇐ +1) is not a factor of pecs .

④ Let pk) = k3 - x2 - (2+52) >ctr

p⇔ ) = 1- 1)3- C-1)2- ② +E) C-1) ¥52
= -1-1-12 -¢ -1¢
= -21-2

= 0

i. by factor theorem
⇐+1) is a factor of Pks .
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2.④ p# = 2×3 -1×2-2×-1 , vg⇔= a -11
p C-1) = 21-113+(-112-241) -1

= -2+1+2-1

=-3 -3

= 0

Since remainder = 0

:
. rgcx) is a factor of pea .

④ plc) = 23 -13×2-13×-11 , rgtx) = x-12

p C-2) = (-213-131-2)<-131-2) -11
= -8# 12-6-11

= 1-3-14

= -11=0

Since remainder -1-0

i. ugk) is not a factor of pecs .

④ PK ) = ✗3- 4×2-1×+6 , g. (a) = oc -3

p (3) = 33-4 (3)
£ -13-16

= 27-361-9

= 36-36

= 0

Since remainder = 0

i. rgcx) is a factor of p⇔ .

3. ① pic) = x2 -1×-1 k

Since ⇐- 1) is a factor of pcx)
i. by factor thin
p(11=0

or 12-11-1 k=o
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or 1- 1- 1- 1- ls=o

or k -12=0

or k= -2

④ PK ) = 2×2-1k#tf

(x-D is a factor of PK)
i. by factor theorem
p(11=0

or 21112-1 k(1) +52=0

or 2 -1k -152=0

or k= - (2+52)

④ PK ) = KKZ- Fx +1

⇐ - 1) is a factor of pec)
i. by factor theorem

p (1) =o

or k (1)2- R( 1) -11=0

or k - E -11=0

or k= 52 -1

④ PK) = text -3k -1k

K-1) is a factor of pecs
i. by factor theorem

p (1) =o

or k (1)2- 3 (1) +k=o

or k - 3-1 k=o

or 2k =3

or k= }
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40 12×2-7×-11

= 12×2 -4×-3×-11

= 4×(3×-1) -1-(3×-1)
= (3×-1) (4×-1)

④ 2×2-17×-13

= 2×2 -16×-1×-13

= 2x( ✗+ 3) +1-( x -13)
= ⇐+3) (2×+1)

④ Got-15×-6

= 6×2 -19×-4×-6

= 3×(2×-13) -2/2×-13)

= (2×-13) (3×-2)

④ 33C≥ -x - 4

=

3.KZ/-3sc-4sc-4--3x(sctt)-4(sct1)
= ⇐ + 1) (3×-4)

510 Let PK ) = ✗3-2×2 - x -12

Factors of 2 are 1=1 , -12

Put x=1

p(11=13-2 (1) 2-1-12

= 1- 2-1-12

=3-3

= 0

i. by factor theorem
K - 1) is a factor of pkt .
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✗
2

x-1É+[
✗
3
- x2

- t

- x2 - x-12

- x2 -13C

+ -

- 2k -12

- 2×1-2

+ -

O

: PK) = ⇐-1) ¢2 - x -2)
=@ - 1) ⇐ 2-

2.sc/-x-2)--K-1)CcCx-2j-1-(x-2D--4c-14c-2)(xtt)OR-yc3-2x2-Kt2
= x2( x-D -1-( x-2)
= ③ - 2) (x2 -12)

= ⇐ - 2) 4C -11) #-1) [ : a ≥-L2 = @ +b) la - LD

④ Let plc) = ✗3- 3×2-9×-5

Factors of 5 are -1-1,1=5
p (1) = 13-31112-911 ) - s

= 1-3-9-5

= 1-17

= -16 =/ O

p -111=(-113-34132-91-1) -5
= -1-3+9--5
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= 9- 9

= 0

i. by factor theorem
⇐+1) is a factor of pal .

x2 - 4×-5

✗ 23-3×2-9×-5 (
13 f)[ 2

-
-

- 4×2-9×-5

- 4×2 - 4k

+ t

- 5×-5

- Sse - S

+ +

0

i.pk ) = # + 1) (x2 -4k - s)
=L-11) (x2-5×-1×-5)
=@ +1) ⑥ ( x- S) -11 ( x -SD
=(sett) K - 5) K -11)

④ Let pk ) = ✗
3 -113×22-132×-120

Factors of 20 are -1-1,1=2, -1-4,1-5,1--10,1=20

p (1) = 13+131112-132111-120

= 11-13-1321-20

= 66=10

pft ) = (-113+131-1)<-1321-1) -120
= - 1-1-13 - 321-20

= 33-33

=O
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i. by factor theorem
⇐ +1) is a factor of pecs .

K2 -112k -120

x-11%3-113×2 -132×-1207
✗
3
f- ✗ 2-

- -

12×2-132×-120

12*2 -1123C

-

-

20×-120

20K-120

- -

O

i. p⇔= (x-11) (x2 -112×+20)
= (x -11) (x2 -110×+2×-120)
=(x -11) ⑥ ( x -110) -121×+1-0)]
= (x-11) (x-110) (x -12)

④ Let p(y ) = 2y3ty2 - Zy -1
Factors of 1 are -1-1

p(1) = 2.(1)3+(112-211) -1
= 21-1-2-1

= 3-3

= 0

i. by factor theorem
ly - 1) is a factor of PG)
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2 y2 +3g -11

g-1) 2y3+y2-2g -1 [
223 -2y2
- t

3y2-2g -1

322 - 3 y
-

+

y
-t

g- 1

- +

0

i. pig )=(y -1) ( 2g
2

-13g +1)
= @ -1) (2y2 -12g -1g -11)
=@ - 1) ②y( y -11) -1118+1-1]
= ② -1) ② + 1) (22+1)

OR-2.gs/-y2-2y-1--y2(2yt1)-1(2yt1)--(2yt1)fy2-
1- 2)

= (22-11) ② +1) (y -1)
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